Monday, September 9, 2024 A

EE 481/581 Microwave Engineering
Quiz #1 (Fall 2024)

Name /(e/y A’

Instructions: Open book & notes. Place answers in indicated spaces and show all work for credit.

At 2.4 GHz, a sample of non-magnetic Grubbium A has a measured loss tangent of 0.1 and relative
permittivity of 2.4. Determine the complex permittivity & and effective conductivity o. Then, find the
attenuation constant, phase constant, phase velocity, and intrinsic impedance seen by a plane wave
propagating through Grubbium A. Put complex numbers in rectangular format. or-mas,
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Monday, September 9, 2024 B

EE 481/581 Microwave Engineering
Quiz #1 (Fall 2024)

Name ,Kélj/ _/g

Instructions: Open book & notes. Place answers in indicated spaces and show all work for credit.

At 1.8 GHz, a sample of non-magnetic Grubbium B has a measured loss tangent of 0.08 and relative
permittivity of 2.8. Determine the complex permittivity & and effective conductivity o. Then, find the
attenuation constant, phase constant, phase velocity, and intrinsic impedance seen by a plane wave

propagating through Grubbium B. Put complex numbers in rectangular format.
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